MP30 &5

i

SIEEEGIEE SE xR mindman
ST
o JEEJJHEE : SHFEE -100.0~100 kPa
1EE 0~1 MPa
#J8% -101.3~0 kPa
o FHBARRH o 1 ARARERE -
o JIEFETII%E - RS - (KEH -
PR
. O\ ©
Hik&
HUGR MP30C ( i) ) MP30V ( £ ) MP30P ( IFJ% )
HEE R ] —-100.0~100.0 kPa -101.3 ~0.0 kPa 0.0~1.0 MPa
BE IR A R ] —-100.0~100.0 kPa -101.3 ~10.0 kPa —-0.1~1.0 MPa
iR 300 kPa 1.5 MPa
o PR S 224, 0 JRIEERIE - AT
KPa 0.1
MPa 0.001
kgf/cm? , bar 0.001 0.01
?%g;i%% psi 0.01 0.1
InHg 0.1
mmHg 1
mmH,0 0.1
RS 12~24V DC+10%, WZIE(E 10% LUK
BB 60mA LI
NPN 3% PNP BH&ERR 2 fiiH
B _ ) IR BB : 100mA
R AHEEREE : NPN, 30V DC; PNP, 24V DC
PIERJEERE « <1V
HENEE <+ 0.2% F.S. +1digit
p e BEE
B P =C El5E (3 digits)
JEZS IR <2.5ms ( THIGREELHEE : 24ms, 192ms, 768ms H35E{E )
LR P AR A 5l
B 37 > 7 B¢ LED B (K0 ) (HUBSEL : 5 X /7))
UK 2% F.S. +1 digit ( EEREE : 25+3°C)
B ERERE HrtaferRs - OUTT & ALFERME : OUT2
L (VRN ) | s EoYas FS T R o 2O FS AT
(f#PR MP300-01, MP30 0-03 U5, ) - . Myvi .
EARE 1% FS. DUF B +1% FS. LUF
IR P40
JE R B : 0 ~ 50°C, 17 : —20 ~ 60°C ( /KT R AHEKIRDLT )
JEIEER BhERARTF : 35 ~ 85% RH ( fHE/kEE )
it B A5 it B 1000V AC 1 438 ( 5 [#E RSN )
ftgzRH 50MQ L) = (500V DC)( 5 552 FME&H )
it HEARIE 1.5mm, 5—/38% 10Hz~55Hz~10Hz, X ~ Y ~ Z £ 5144 2 7Nk
i e 980m/s” (100G)X ~ Y ~ Z & 7144 3 K

AW mindman



MP30 AHBUY

SEESNEEE KRS mMindman
Kk
il MP30C (E)E ) MP30V ( & ) MP30P ( IEJE )
SR +2% F.S. (0~50°C JA s #iEMA )
B IS (O 1 A ) F1: R1/8", M5x0.8; F2: NPT1/8", M5x0.8; F3: G1/8", M5%0.8
TEARHUS @4 i3 PVC - 26 AWG (0.15mm?) - 5585 (01/03 ) » 455 (02/04 )
Hi #1679 (& 2 ARAER ), £ 359 (5 M8 4Pin ZA5H )
Ty H R B R o s
MP300C-01 MP300-02 MP30C-03 MP300-04
- DO — L—RC(HE ) o ie DC(+)( b5t ) = « DC(+)( it )
A IETE S0l g t i SR ¥ | Lo HIERE
() H orime T [JL |l| g st | & Jot) LollsHaet L & Joumemey |
< 1 ouTRE) -=?§2‘v £ t ouna(itn) | [Fa ||| £ H—e oUTCER) AT, ||| £ Hae ourz( 1) (g 7%,
g b oUT2 (1) % % 2 UT2(HE T £ 3 7
i 500 (BE) ' BCO(EE) = BCO) (& ) 2 B5CO) ()
NPN i NPN #H PNP #iH PNP i
A TR HERL O (SRR )
MP3OC—0]—F]—QD MP—D] DA
RlgE EEOR BIRRE/EE . y
F1:R1/8", M5x0.8 i : 2M i BUER REFEH
F2: NPT1/8", M5x0.8 QD: M8, 4 Pin /A2 D1: M8, 4 Pin iz
F3:G1/8", M5x0.8 (R} 02, 04 %t )
MP-D1
B BHER M8 4-Pin RESESHE#Z2S
C:5#JEE (-100.0~100.0 kPa)  01: 2 NPN i & JEH#d (1~5V)
V: £ (=101.3~10.0 kPa) 02: 2 NPN ! 32
P: IFJ& (-0.10~1.00 MPa) 03: 2 PNP i & J#LbigH (1~5V) 7
04: 2 PNP i -
THRERIH / AN~ 2|2 v ra
2000
L(a)8t WG (OUT1) 657 (OUT2)
OO A R A (#%fa LED) (#Lfa LED)
MPa
(V)8
e B et i S W el =] B
3% W LED B%
HUR R M *;i* S e R
BN B PUE IR EE
Fl:Rig 123 55 300 .
F2: NPT1/8" | - -
F3: G1/8" INGEEERR S50
—— AT 0 2 4
M5x0.8 (1) ﬁ@‘ (+)
(2) |1 (OUT2)
2000 25 (3) Bt (-)
| | 1 3 (4) Bt (OUT1)
o | E— (B

AW mindman




	1_規格
	2_外觀尺寸

